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Химия для школьников 10 – 11 классов (отборочный этап) 
Решение задачи 8. Химия моллюсков 

 
1. Х – FeOOH 

Y – FeCl3 

FeOOH + 3/2 H2 
t  Fe + 2H2O 

m(Fe) / m(FeOOH) = 55,8 / 88,8 = 0,628. 

2. Уравнения реакций: 

Получение Y: 

FeOOH + 3HCl = FeCl3 + 2H2O 

Эксперименты: 

 FeCl3 + 3AgNO3 = 3AgCl + Fe(NO3)3       (1) 

 Cu + FeCl3 = CuCl + FeCl2        (2) 

 2KI + 2FeCl3 = I2 + 2KCl + 2FeCl2       (3) 

 FeCl3 + 3NH3 + 3H2O = Fe(OH)3 + 3NH4Cl      (4) 

 Fe(OH)3 
t  FeOOH + H2O 


